BEI BETIVHN # 20 (70D 2) e il = W) 42+ do — 3 1 52213z — 6
K4
B 9 EHT0NI (BROEESEE)
RORE PR 72 3 0o,
(1) 622 +5z+1 2) 522+ 17z +6
13 322 —4z—4 4 622 +z—1
(3) 42?2+ 9z +2 @) 42°+13z2+3
B 42> —-132+3 1 622 —11z—2
(5) 42?2 +8x+3 6) 322+ 8z +4
17 5z%2+13z—6 18 42> —11z+6
(7) 222 +52+2 8) 222 —bx+2
19 2z%—3z-—2 @) 6x% — 13z +2
9 62°2+T7r—3 10) 322 —8zx+4
@) 32%+4x—4 2 522 17Tz +6

(z—x)(1+zzr) ) (T+zg)(cT+28) @) F—x)(e+2g) 67 (T —22) (1 —29) @) (e +zp)(T+2¢) @) (¢ +22)(1T+29) @) (€+2)(g+29) () (T+2)(T+29) ) (T+x)(T+29)6) (T—2)(T—2F) (¢ (1—2)(1T+29) 0 (¢+=)(T —xT) €

(e —2)(g —29) 48 (¢ + 2)(1 — =9) €0 (T — 2€)(1 — 22) @ (¢ — )(T +27) (1® (& — *)(€ + 2p) (0 (T + 2)(T — 29) 67 (¢ + 2€)(€ + 22) 89 (¢ + 2)(¢ — 29) () (¢ — z€)(€ — 22) @) (& + 2)(1 —27) @ (¢ — *)(1 +27) (0 (¢ + 2)(¢ —27) €@ [1] (T @Z) O0TH



(e —2)(g+ =g) @) (¢ +22)(1 — =z) () (¢ — =)(z — =€) O) (T —ze)(e+ 2) (6) (¢ — =)(1 — 2g) (8) (¢ + 2)(1 + ¢) () (¢ + =)(T + =€) (9) (€ + =) (T + 22) (§) (€ + =) (T +2¥) () (T + 2)(1T+ 2%) (©) (¢ + =) (¢ + 2¢9) (@) (T +2e)(T + 22) (1) (T ®2) 0T#

422 + 52 — 6

4o + 7o — 2

622 + 132 — 15

6x% + 5z — 1

422 — 11z — 3

622 + 11z — 2

(30)

402 —Tx — 2

622 — 132 + 6

622 + 192 + 15

422 — 5z — 6

622 —br + 1

622 — 23z + 15

2% + 3z — 2

422 — 9z + 2

622 + Tz + 1

1222 4+ 20z + 3

1222 — 8z + 1

1522 + 41z + 12

(e—2z)(c—29) @ (c+z)(c—=z¢) 1@ (c —z)(1T —z9) (7 (c— z)(1T+ =) @) (c — z)(€— %) @ (¢ +=)(c—xg) @ (g —=)(1T+29) @ (¢ —=)(1 —=%) @ (1 —2e)(1 + zg) 0 (¢ — =)(g + z¢) )

622 —br — 1

622 + 13z + 2

622 + 23z + 15

1222 + 132+ 3

212 — br — 12

1222 — 232 — 2



